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44 + 4 = 12 x 9 = 12 + 4 =

27+9=__ 10+10=__  5x6=
2+2=__ 8x6=__ 2x12=__
8x1=__ %+8=__ 12x5=__
1x10=__ 12x9=__  8x4=__
54+6=___ = 6x8=__ 40+4=___
1M0x1=___ 9+11=__  2x11=
9x3=__ 7x5=__ 12 %6 =
3x3=__ 36+3=__ 11 x6=
4 x 8= 6x1= 5x5=
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Division 3 - Bigger numbers

| Shore these 52 crates equally among 4 trucks. How many crotes go on each truck?

fo=i~= [ ([}

!

Share the 50 first. There is one 10 and
Each truck gets 10, 2 single crotes remaining.
=
Mth Whoﬂkalhs
Mmm 12 single crotes.

Share the 12 crotes among the 4 trucks.
Eoch ruck gets 3 single crates.
Eoch truck now has

ong 10 & 3 crotex = 13 crotes

1.

Now try these trucking questions yourself.
(o) Shore 34 crates equally between 2 trucks [:L__“ or ' I]JE{,
=

.......................................................................................................
.............................................................................................................

..............................................................................................................

- )
(e) Share 84 crotes equally among 7 trucks [ =) o |

e - | -
() Share 68 crates equally among 4 trucks 1)L of

............................................................................................................

(g) Shon%mun equally amang 6 trucks I)[:] or = e




Design a New Sport

Amazing Fact

The sport of chess boxing combines two traditional sports; chess and boxing.
The competitors fight in alternating rounds of chess and boxing and winning
in either round means overall victory.

Challenge
Design your own sport that combines two different sports.

Give it a name and describe how it would work. Then, draw a picture to show
your new sport.
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You could also try to find out: :-i* ’ T
- how popular chess boxing is; | | “ : ;“;'

- where the idea originated from; '*.L%/ N
- whether any other mixtures of sports exist; ‘ )'— ’;(,,:'-‘?_\

- what other sports would go well together. » —




